[ Efficiency vs vertpos |

~ 0.7

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0

1.0

Ratio

o
©
a

UL LU LA RARAS LARAE RALLN RRARS RALAN RALAN RARLN RAARN LN

oo 4+ -4 -4

=
2

Efficiend

10

[N}

1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TT_retrain-lowpt
—— DQM_mkFit_TTold-lowpt

~ 0.05

Q.04+t
» : : :
1| SERRRSRIR S SR S
oy : : :
- N0icts] SRR SRR A
5 : : :
£ 0.08F bl
B : : :
0.025F ool
000 il
0.015F el
0.01F-----hesee il
0.005F-++++h+eeeeerinff ool

Vs

.....

..................

..................

..................

Ratio

0.95!

0

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~ 0.1
>
. 0.09
€
o008

20.07E
>

....................................

....................................

....................................

6 4 20 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


